S}
=]

A 9]

ne

1.

@ 6 ® 7 @ 8 ®9

@ 5



2. AN EA=|9] dole] gho] 220]a Tz o] o7t 1491 A5 A €]

Aylol=?

@® 144 @ 196 ® 288 @ 308 ® 496



3. T Pt ax® +br— 10] @ - 3x 1 22 Lhro] B X EE A4
a-+ b ghe gstelet.

D
=%



f(x)

ol

3)6 +a.x +bx 12: X 2.§- C E: :‘—J—-—]—
+ - ]/]—

Yol Wol A g A%
% a+ b G Hstolet



S f)=x3+4x%+x-6=(x+a)(x+b)(x+c) L W,a+b+c
o] k27

@ 2 @ 3 ® 4 @ 5 ® 6



6. x3-6x2+1lx—-6< Q4E] s}HA?

D (x+1)(x=2)(x+3) @ (x=1)(x+2)(x+3)
® (x-1)(x-2)(x-13) @ (x+1)(x+2)(x-3)



116 -1
7. o] Z+& 159
u2uﬂ+4)+1']”3;?4

O 119 @ 120 @ 121 @ 122 ® 123



20063 — 1

o] 7r & ;%?
2006 x 2007 1 ) k= Tt

@® 2005 @ 2006 ® 2007 @ 2008 ® 2009



X —-x*=3x+3
x—1

X =3-2%9 1, o] gh2?

D 8-6+2 @ 8-442 ® 5-642
@ 5-42 ® 3-6v2



10. a+b+c=1,2+b2+c?=5,a>+b>+c% =24 W, abc ] 727

@—g @ 0 ® @ ® 1

w| Ut
DO Ot



11.

TFHA] f(x) S x-12 U 52 0(x), YHA S ROl &

o o
= x— 1% W 5 YA E 2 2 vt2A gt A2
@ Q(x). R @ Q(x), R+3
® xQ(x),R @ xQ(x), R+3

® xQ(x)+R, R+3

Xf(x)+3
9



12. ok f(x) ol Wate] f(x) +2, xf(x) + 27k B QA4 x -0 2
Haroldold o, f(1) 9 gks oti?

®-2 @ ©@-1 ® 0 ® 1 ® 2



